SÉMINAIRE DE PROBABILITÉS (STRASBOURG)

R.A. DONEY

Some calculations for perturbed brownian motion

Séminaire de probabilités (Strasbourg), tome 32 (1998), p. 231-236 http://www.numdam.org/item?id=SPS 1998 32 231 0>

© Springer-Verlag, Berlin Heidelberg New York, 1998, tous droits réservés.

L'accès aux archives du séminaire de probabilités (Strasbourg) (http://portail. mathdoc.fr/SemProba/) implique l'accord avec les conditions générales d'utilisation (http://www.numdam.org/conditions). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.



Article numérisé dans le cadre du programme Numérisation de documents anciens mathématiques http://www.numdam.org/

SOME CALCULATIONS FOR PERTURBED BROWNIAN MOTION

R A DONEY

1. Introduction

If B is a standard Brownian motion starting from zero, and $\bar{B}_t = \sup_{0 \le s \le t} B_s$, then the process X defined by

$$(1) X_t = B_t + \frac{\alpha}{1 - \alpha} \bar{B}_t,$$

where $\alpha < 1$ is called an α -perturbed Brownian motion. It is immediate from (1) that if $\overline{X_t} = \sup_{0 \le s \le t} X_s$ then

$$\overline{X}_t = \frac{1}{1 - \alpha} \overline{B}_t,$$

so that (1) shows that X is the unique pathwise solution of the functional equation

$$(3) X_t = B_t + \alpha \bar{X}_t.$$

This is a special case of the equation

$$X_t = B_t + \alpha \bar{X}_t + \beta \underline{X}_t$$

where $\underline{X}_t = \inf_{0 \le s \le t} X_s$, which has been studied by a number of authors; see ([3], [5], [4], and [8]). It should also be mentioned that, by the Lévy equivalence, (1) can be written as

$$-X_t = W_t - (1 - \alpha)^{-1} L_t,$$

where W is a reflected Brownian motion whose local time at zero is L, so X is often referred to as "reflected Brownian motion perturbed by its local time". (See e.g.[11].)

From (1) it is clear that X is a non-Markov process which moves like Brownian motion except when it is at its maximum, and, moreover, X has the Brownian scaling property. Many other results known for Brownian motion have analogues for perturbed Brownian motion, including Lévy's Arc-sine law, the Ray-Knight theorems, and the solution to the two-sided exit problem. (See [7], [2], [10], and [11].)

In this note we give an excursion theory approach, based on the excursions of X away from its maximum, which leads to simple proofs of some of these results, and to new ones. In particular, we give new proofs of the Ray-Knight theorems and extend the results known about the two-sided exit problem by computing the transition density of the bivariate Markov process (X, \bar{X}) , killed when X exits the interval, at an exponential time. From these results we are able to deduce some information about "X conditioned to stay positive".

The basis for our calculations is the following observation; write $P^{(\alpha)}$ for the measure of X and $n^{(\alpha)}$ for the characteristic measure, under $P^{(\alpha)}$, of the excursions away from zero of $\bar{X} - X$. Note that $n = n^{(0)}$ coincides with the characteristic measure of excursions away from zero of reflected Brownian motion.

Proposition 1.1. The measures $n^{(\alpha)}$ and n are related by

$$(4) n^{(\alpha)} = (1 - \alpha)n.$$

Proof. From (1)and(3) we have

$$\bar{X}_t - X_t = (1 - \alpha)^{-1} \bar{B}_t - \{B_t + \alpha (1 - \alpha)^{-1} \bar{B}_t\} = \bar{B}_t - B_t,$$

which tells us that $n^{(\alpha)}$ is a multiple of n. But (2) tells us that the local times at zero of $\bar{X} - X$ and $\bar{B} - B$ are related by $l^{(\bar{X} - X)} = (1 - \alpha)^{-1} l^{(\bar{B} - B)}$, and this identifies the constant.

2. RAY-KNIGHT THEOREMS

Let L_x^t denote a jointly continuous version of the local time at level x and time t of X, and write Q_x^{δ} for the law of the square of a Bessel process of dimension δ starting from x.

Theorem 2.1. For fixed b > 0 let $Z = \{Z(x), 0 \le x \le b\}$, where $Z_x = L_{T_b}^{b-x}$. Then the law of Z is the restriction to [0,b] of $Q_0^{2\bar{\alpha}}$, where $\bar{\alpha} = 1 - \alpha$.

Proof. Since the result is classical for $\alpha=0$, it follows from the Lévy-Khintchine representation of Q_0^{δ} (see Theorem 3.2, p30 of [11]) that it suffices to show that for any Borel function $f\geq 0$

$$P^{(\alpha)}\{\exp-\int_0^b f(x)Z(x)dx\} = [P^{(0)}\{\exp-\int_0^b f(x)Z(x)dx\}]^{\bar{\alpha}}.$$

However, if we write g(.) = f(b - .), the occupation density theorem gives

$$\int_0^b f(x)Z(x)dx = \int_0^{T_b} g(X_s)ds = \int_0^{\tau_b} g(l_s - Y_s)ds,$$

where $Y = \bar{X} - X$ and τ is the inverse of $l = l^{(Y)}$. Applying the master formula of excursion theory gives, with $\zeta = \zeta(\varepsilon)$ standing for the lifetime of a generic excursion ε ,

$$P^{(\alpha)}\{\exp-\int_0^b f(x)Z(x)dx\} = \exp-\{\int_0^b dt \int_\Omega n^{(\alpha)}(d\varepsilon)[1-\exp-\int_0^\zeta g(t-\varepsilon(u))du]\}$$
$$= [P^{(0)}\{\exp-\int_0^b f(x)Z(x)dx\}]^{\bar{\alpha}}$$

by virtue of (4), and the result follows.

Next, we deduce the second Ray-Knight theorem. We write σ for the inverse of L^0 and \tilde{Q}_x^{δ} for the measure of the square of a Bessel process of dimension δ , starting from x and killed on hitting zero.

Theorem 2.2. For fixed t > 0 let $U^{(t)} = \{U_x^{(t)}, x \ge 0\}$, where $U_x^{(t)} = L^x(\sigma_t)$. Then under $P^{(\alpha)}$ the law of $U^{(t)}$ is $\tilde{Q}_t^{2\alpha}$.

Proof. For $x_0 > 0$ it is clear that, given $L^{x_0}(\sigma_t) = t_0$, $\{L^{x_0+x}(\sigma_t), x \geq 0\}$ is independent of $\{L^y(\sigma_t), 0 \leq y < x_0\}$, and is distributed as $U^{(t_0)}$. Thus $\{U_x^{(t)}, x \geq 0\}$ is Markov, and the result will follow if we can show that, for all Borel subsets A of $[0, \infty)$ and any t > 0, x > 0,

(5)
$$P^{(\alpha)}\{U_x^{(t)} \in A\} = \tilde{Q}_t^{2\alpha}\{X_x \in A\}.$$

Now by Theorem 2,

$$P^{(\alpha)}\{U_x^{(t)}=0\} = P^{(\alpha)}\{L^0(T_x) > t\} = Q_0^{2\bar{\alpha}}\{X_x > t\},$$

whereas, writing $\lambda_t = \sup\{s : X_s = t\}$, it follows by time reversal(see e.g.Ex.1.23, p420 of [9]) that

$$\tilde{Q}_{t}^{2\alpha}\{X_{x}=0\} = Q_{t}^{2\alpha}\{T_{0} \le x\} = Q_{0}^{2+2\bar{\alpha}}\{\lambda_{t} \le x\}.$$

Finally, using the scaling property and the fact that the $Q_0^{2+2\bar{\alpha}}$ distribution of λ_1 coincides with the $Q_0^{2\bar{\alpha}}$ distribution of $\{X_1\}^{-2}$ (see Ex 1.18, p418 of [9]), we see that (5) holds for $A=\{0\}$. Next, on $\{U_x^{(t)}>0\}$, we set $\tilde{T}=\inf\{s>T_x:X(s)=0\}$,and write

(6)
$$U_x^{(t)} = L^x(\tilde{T}) + \{L^x(\sigma_t) - L^x(\tilde{T})\}.$$

Since the excursions of X below x after time T_x have the same structure as the excursions below zero of a Brownian motion, it is clear that, given $L^0(T_x) = s$, the terms on the RHS of (6) are independent and, by the Ray-Knight theorems for Brownian motion, have the distribution of X_x under Q_0^2 and Q_{t-s}^0 respectively. Using the composition law for squares of Bessel processes (Theorem 1.2, p410 of [9]) and appealing again to Theorem 2 gives

$$P^{(\alpha)}\{U_x^{(t)} \in dy\} = \int_0^t Q_0^{2\bar{\alpha}} \{X_x \in ds\} Q_{t-s}^2 \{X_x \in dy\}$$

$$= \frac{dy}{dt} \int_0^t Q_0^{2\bar{\alpha}} \{X_x \in ds\} Q_y \{X_x \in dt - s\}$$

$$= \frac{dy}{dt} Q_y^{2+2\bar{\alpha}} \{X_x \in dt\}.$$

Finally, time reversal gives

$$\frac{1}{dt}Q_y^{2+2\bar{\alpha}}\{X_x \in dt\} = \frac{1}{dy}Q_t^{2\alpha}\{X_x \in dy; T_0 > x\} = \frac{1}{dy}\tilde{Q}_t^{2\alpha}\{X_x \in dy\},$$

which completes the proof of (5).

3. The process killed on leaving [-a, b].

We will write $S = S(a, b) = T_{-a} \wedge T_b$ for the first exit time of [-a, b], and V_{θ^*} for an independent, exponentially distributed random variable with parameter $\theta^* = \theta^2/2$.

Theorem 3.1. It holds that, for a > 0, b > 0,

(7)
$$P^{(\alpha)}\{S \le V_{\theta^*}; X(S) = b\} = \left(\frac{\sinh a\theta}{\sinh(a+b)\theta}\right)^{\bar{\alpha}},$$
 for $0 < y < b$,

(8)
$$P^{(\alpha)}\{S \le V_{\theta^{\bullet}}; X(S) = -a, \bar{X}(S) \in dy\} = \frac{\bar{\alpha}\theta(\sinh a\theta)^{\bar{\alpha}}}{\{\sinh(a+y)\theta\}^{\bar{\alpha}+1}}dy,$$
and for $-a < z < y, 0 < y < \infty$,

$$(9) \quad P^{(\alpha)}\left\{T_{-a} > V_{\theta^*}; X(V_{\theta^*}) \in dz, \bar{X}(V_{\theta^*}) \in dy\right\} = \frac{\bar{\alpha}\theta^2(\sinh a\theta)^{\bar{\alpha}} \sinh(a+z)\theta}{\{\sinh(a+y)\theta\}^{\bar{\alpha}+1}} dy dz.$$

Proof. Write $A(\theta^*, c)$ for $\{\varepsilon : \zeta(\varepsilon) > V_{\theta^*}\} \cup \{\varepsilon : \zeta(\varepsilon) \leq V_{\theta^*}, \bar{\varepsilon}(\zeta) > c\}$, and recall that

(10)
$$n(A(\theta^*,c)) = \theta \coth c\theta.$$

Then $P^{(\alpha)}\{S \leq V_{\theta^*}; X(S) = b\} = P^{(\alpha)}\{\phi > b\}$, where $\phi = \inf\{s : \varepsilon_s \in A(\theta^*, a + s)\}$. Thus

$$P^{(\alpha)}\{S \leq V_{\theta^*}; X(S) = b\} = \exp\{-\int_0^b n^{(\alpha)} (A(\theta^*, a + s)) ds\}$$
$$= \exp\{-\bar{\alpha} \int_0^b \theta \coth(a + s) \theta ds\},$$

from (4) and (10), and (7) follows. Also

$$P^{(\alpha)}\{S \leq V_{\theta^*}; X(S) = -a, \} = P^{(\alpha)}\{T_{-a} < T_b \wedge V_{\theta^*}\}$$

$$= \int_0^b P^{(\alpha)}\{\phi > y\} n^{(\alpha)}\{\varepsilon : T_{a+y} < \zeta(\varepsilon) \wedge V_{\theta^*}\} dy$$

$$= \int_0^b \left\{ \frac{\sinh a\theta}{\sinh(a+y)\theta} \right\}^{\bar{\alpha}} \frac{\bar{\alpha}\theta}{\sinh(a+y)\theta} dy,$$

where we have used another standard result for Brownian motion, and this is equivalent to (8). Similarly

$$P^{(\alpha)}\{S > V_{\theta^{\bullet}}; X(V_{\theta^{\bullet}}) \in dz\}$$

$$= \int_{z^{+}}^{b} P^{(\alpha)}\{\phi > y\} n^{(\alpha)}\{\varepsilon : \zeta(\varepsilon) > V_{\theta^{\bullet}}, \overline{\varepsilon}(V_{\theta^{\bullet}}) \le a + y, \varepsilon(V_{\theta^{\bullet}}) \in y - dz\} dy$$

and since, for 0 < u < v

$$n\{\varepsilon : \zeta(\varepsilon) > V_{\theta^*}, \bar{\varepsilon}(V_{\theta^*}) \leq v, \varepsilon(V_{\theta^*}) \in du\}$$

$$= n\{\varepsilon : T_u < \zeta(\varepsilon) \wedge V_{\theta^*}\} P_u^{(0)} \{X(V_{\theta^*}) \in du, T_0 \wedge T_v > V_{\theta^*}\}$$

$$= \left\{\frac{\theta}{\sinh u\theta}\right\} \cdot \left\{\frac{\theta \sinh u\theta \sinh(v - u)\theta du}{\sinh v\theta}\right\} = \frac{\theta^2 \sinh(v - u)\theta}{\sinh v\theta} du,$$

(9) is also immediate. ■

From this some known results in [2] and [8] follow immediately.

Corollary 3.2. For α -perturbed Brownian motion we have

(11)
$$P^{(\alpha)}\{X \text{ exits } [-a,b] \text{ at } b\} = (\frac{a}{a+b})^{\bar{\alpha}},$$

$$E^{(\alpha)}\{e^{-\theta^*T_b}\}=e^{-\bar{\alpha}b\theta},$$

and

$$E^{(\alpha)}\{e^{-\theta^*T_{-a}}\} = \int_0^\infty \frac{\bar{\alpha}\theta(\sinh a\theta)^{\bar{\alpha}}}{\{\sinh(a+y)\theta\}^{\bar{\alpha}+1}} dy.$$

We can also deduce some facts about X conditioned "to stay positive";

Corollary 3.3. It holds that

(12)
$$\lim_{a\downarrow 0} \lim_{k\uparrow \infty} E^{(\alpha)} \{ e^{-\theta^{\bullet} T_b} \mid X exits [-a, k] \text{ at } k \} = \left(\frac{b\theta}{\sinh b\theta} \right)^{\bar{\alpha}},$$

and

(13)
$$\lim_{a\downarrow 0} \lim_{k\uparrow \infty} P^{(\alpha)} \{ X(V_{\theta^*}) \in dz \mid X exits [-a, k] \text{ at } k \}$$

$$= \theta^{1+\bar{\alpha}} z \sinh z\theta. \int_{z}^{\infty} \frac{\bar{\alpha}\theta}{v^{\alpha} \{ \sinh v\theta \}^{\bar{\alpha}+1}} dy dz.$$

Proof. Note that for k > b,

$$P^{(\alpha)}\{T_b \leq V_{\theta^*} \mid X \text{exits } [-a, k] \text{ at } k\}$$

$$= \frac{P^{(\alpha)}\{S \leq V_{\theta^*}, X(S) = b\}P^{(\alpha)}\{X \text{ exits } [-(a+b), k-b] \text{ at } k - b\}\}}{P^{(\alpha)}\{X \text{ exits } [-a, b] \text{ at } b\}}$$

$$= \{\frac{\sinh a\theta}{\sinh(a+b)\theta}\}^{\bar{\alpha}}\{\frac{a+b}{a+k}\}^{\bar{\alpha}}\{\frac{a}{a+k}\}^{\bar{\alpha}},$$

which does not depend on k. So (12) follows by letting $a \downarrow 0$. Similarly, we see that for z < y < k

$$\begin{split} &P^{(\alpha)}\{X(V_{\theta^{\bullet}})\in dz, \bar{X}(V_{\theta^{\bullet}})\in dy\mid \text{ exits } [-a,k] \text{ at } k\}\\ &=P^{(\alpha)}\{T_{-a>}V_{\theta^{\bullet}}, X(V_{\theta^{\bullet}})\in dz, \bar{X}(V_{\theta^{\bullet}})\in dy\}P^{(0)}\{X \text{ exits } [-(a+z),y-z] \text{ at } y-z\}\\ &\quad\times\left\{\frac{P^{(\alpha)}\{X \text{ exits } [-(a+y),k-y] \text{ at } k-y\}}{P^{(\alpha)}\{X \text{ exits } [-a,k] \text{ at } k\}}\right\}\\ &=\frac{\bar{\alpha}\theta^2(\sinh a\theta)^{\bar{\alpha}}\sinh(a+z)\theta}{\{\sinh(a+y)\theta\}^{\bar{\alpha}+1}}dydz.\frac{z+a}{y+a}.\left(\frac{a+y}{a=k}\right)^{\bar{\alpha}}.\left(\frac{a+k}{a}\right)^{\bar{\alpha}}, \end{split}$$

and this leads to (13). ■

REMARK Using (13), it is not difficult to show that there is a probability measure $R^{(\alpha)}$ say, which is the weak limit of $P^{(\alpha)}(. \mid X \text{ exits } [-a,k])$ as $k \uparrow \infty$ and $a \downarrow 0$, and it would be interesting to describe X under $R^{(\alpha)}$. Of course $R^{(0)}$ corresponds to the BES(3) process, and one way to realize that is as $|B_t| + L_t$, where L is the local time at zero of |B|. This suggests the process $\Sigma^{(\delta)} = |B| + \frac{2}{\delta}L$, which has been studied in [11],chapter 4, as a candidate to have the $R^{(\alpha)}$ measure, for some suitable δ . Furthermore, when $\delta = 2(1-\alpha)$, one can check that, under $P^{(\alpha)}$, the time-reversed process $\{1-X_{T_1-t}, 0 \leq t \leq T_1\}$ has the same measure as $\{\Sigma^{(\delta)}_t, 0 \leq t \leq \lambda^{(\delta)}_1\}$, where $\lambda^{(\delta)}_1 = \sup\{s : \Sigma^{(\delta)}_s = 1\}$. (I owe this observation, which extends a well-known connection between Brownian motion and BES(3), to Loic Chaumont.) However it follows from results in [1] that if $T^{(\delta)}$ is the hitting time process of Σ^{δ} , then

$$E\{e^{-\theta^{\bullet}T_{b}^{(\theta)}}\} = \frac{\bar{\alpha}\theta}{(\sinh b\theta)^{\bar{\alpha}}} \int_{0}^{b} \frac{dy}{(\sinh y\theta)^{\alpha}}.$$

Since this disagrees with (12),we conclude that $\Sigma^{(\delta)}$ does not have $R^{(\alpha)}$ as its measure. This question is discussed further in [6].

REFERENCES

- J.Azéma and M.Yor. Une solution simple au problème de Skorokhod. Sém. de Prob. XIII, Lecture notes in Mathematics, 721, 90-115, Springer, 1978.
- [2] P.Carmona, F. Petit, and M.Yor. Some extensions of the arc-sine law as (partial) consequences of the scaling property of Brownian motion. Prob. Th. and Rel. Fields, 100, 1-29, 1994.
- [3] P.Carmona, F.Petit, and M.Yor. Beta variables as the time spent in [0,∞) by certain perturbed Brownian motions. J.London Math. Soc., (to appear, 1997).
- [4] L.Chaumont and R.A.Doney. Applications of a path decomposition for doubly perturbed Brownian motion. Preprint, 1997.
- [5] B.Davis. Weak limits of perturbed random walks and the equation $Y_t = B_t + \alpha \sup_{s \le t} Y_s + \beta \inf_{s < t} Y_s$. Ann. Prob. 24, 2007-2017, 1996.
- [6] R.A.Doney, J.Warren, and M.Yor. Perturbed Bessel processes. This volume.
- [7] F.Petit. Sur les temps passé par le mouvement brownien au dessus d'un multiple de son supremum, et quelques extensions de la loi de l'arcsinus. Thèse de doctorat de l'université Paris 7, 1992.
- [8] M.Perman and W.Werner. Perturbed Brownian motions. Prob. Th. and Rel. Fields, 108, 357-383, 1997.
- [9] D.Revuz and M. Yor. Continuous Martingales and Brownian Motion. Springer-Verlag, Berlin, 1991.
- [10] W.Werner. Some remarks on perturbed Brownian motion. Sém. de Prob., Lecture notes in Mathematics, 1613, 37-42, Springer, 1995.
- [11] M.Yor. Some aspects of Brownian motion, part I; some special functionals. Lectures in Mathematics, Birkhäuser, ETH Zürich, 1992.

MATHEMATICS DEPARTMENT, UNIVERSITY OF MANCHESTER, MANCHESTER M13 9PL, U.K.